CARS

LINA
I " L
R

P R O D U C T S

608 Queen Street
P.O. Box 1137

Grifton, NC 28530
96"
| 95.375" ; |
3 TFE f 3.0"
2.2
5"
1.7
B w ('[\*_; w n
Q % ERERVES >
1.7
5"
I 2.2
’9» 777777 | 5Il

MATERIAL LIST FOR BOXED SECTION:

1-1-%" X 95-3/8" Top T-Raill

1-1-%" X 2-V4" X 95-3/8" Bottom Rail

1 - 95-3/8" T-Rail Aluminum Insert
1-1-%" X 2-V4" X 95-3/8" Aluminum Insert
18 - 1-3/8" X 1-3/8" X 32-'2" Pickets

1 - Polar Porch Rail Mounting Kit

36"H X 8' POLAR PORCH
RAIL



96"
95.375"
£ j Iy s .
w
5 RS
; o v
3.0"
MATERIAL LIST FOR BOXED SECTION: | | 1.75"
1-1-34" X 95-3/8" Top T-Rail | ‘
1-1-34" X 2-4" X 95-3/8" Bottom Rail 2.25"
1 -95-3/8" T-Rail Aluminum Insert )
1-1-%" X 2-%4" X 95-3/8" Aluminum Insert | 2.25
19 - 1-3/8" X 1-3/8" X 38-12" Pickets 1.75"
1 - Polar Porch Rail Mounting Kit §
I|||I$Iml
" 658 Elu'éer'l' S't:rest °
n 1
42"'H X 8 POLAR PORCH RAIL P.O. Box 1137

Grifton, NC 28530
www.carolinavp.com



